


N

55 s ik ]
1P

(A) % =

a.  BIRMEEAG %M

(1) B+z+E=C+HW+P=K+ B+L

4 T o - B 7 EEN SRR T S

@) WAZAR=F+(Z+F)

(3 B+(Z+FE)=H+T+N
b, BIRIRIEN '
(1) BB W=

(2) R+ = B

(3) BB —2= W

(49) M-Z-F=W-F—-2Z

(8) B—Z—F=H—(Z+K)

6) W—(Z+W)=HW-Z—H

(1) (B+W)—Z=B—-Z+%

) (B+E)—(Z+W)=8B—-2

(9) (B—@\)—(Z—-H)=H-4

{10) F+Z=(R+%H)+(Z—W)




(1) B—Z,=(B+ 5 —(Z+7)

=B -m)—(Z—A)

. [HSRN EH

(1)
(2)
(3)
(4)
(5)

(6)

(Y

(8)
(9)

BXL=Z x|

$XCXW;$XWXL=WX$XLWW%~

HXLxH=Bx(LXA)
HX(ECxH)=BXLXE

(@ XCYXPE= (B XH) xL=BX(LXR)~

% 2, X % T = (B X Z) X (B X T)
=(HXEXP)XT=BX(LXAXT)
=(EXTIX(LXxH\)= (CXT)X (H x.

(EF+Z,+7§)><T=(EF XT)H(EXT)+
(FxT) .
(P=Z)xA=(FxK)—(ZxA)

(Bx T+ @XT. +FEXT)=(R+T+
R)XT

k. | (10) (B +Z—F) X T=MXT+LXT—FXT
(11) B x 1= IxH=R



.Jp'

i Bx0=0 Zx0=0
c d o BRBRE ERE S
(1) Fo= (3 x ) k(7 X )
=GR <) HER
@) W+Z+H=H+FH+2 '
(3) W+Zi+H=W+(ZXH)
(a) B-(LXA)=W+L+H
) (FxF)+Z=(B+2) X
6y (R+R)+Z=B+T+K
(@) B (O =+ L X
2 (8) (BxE)+ TxM=B=+Z

L 9) (BM)(ZEH) =T

PTNNAT AN

L

T

Q) (FHLAR) S T= (R T) (@ T)+

+T) |
(1) (F+Z-H) +T=(@+T)+ (Z+T)— (H
+7T) |
(12) (B+T)+(Z+T) +(F+T)= (F+Z+R)
+7T
(13) (B —2)+HW=00+1) —(T+H)
(14) (B+R/)—(Z+H)=(F-2)+KH




(15) MxZ+HXT+EX
=W OXT R BERFFAXLXT
e BXZ T+ R= (BXOXT)+ (Fx :
SEL Ry =&
16) HF 2T
WMk TEL=EXT
B+ T+Z=f+T
B+ (ZxT)=m+T
B+ (L+T)=WxT
(B xT)+(ZXT)=HK
(B+T)+@+T)=H |
(17) B+1=H Brf=1 oo
_' H+0=0 L+0=0 |
o mmoen ~ % el
Q510 2T () B L A LR o
b odmEe e e
@ ??')ﬁ‘@?%ﬁ'
HENC O L
() z>wme Biap=pt®
{5) W°=1 - Zf=1 Po=1 -

|

Z+H

¥




I :
(1) AMRAFUERTR » HZETA » WEKASE o :
(@) ATRAGRR 5 S WK o

(8) MR PR » SUCRBIIAIIR o

(4) AR RFROHRK Sk RIERSEIR PSR
() F0 20 W TR SRR

(B) - W) SWH:

(1) Arok/h=i » 3LA18 80 » 2278 16 ) SR ?

TR 80+ 16=96 K lirh =& _ =
96-+2 = 48 .- kB ‘
48 —16= 32 ik B8 32

B (80—16) +2=32mmmmun T

(BO+ 16) =2 =48 rise ravrmrenns FeB
(RERE) - ULARPUREARZ AN PR & BL A AN
2k = —ARAIIRIEARE
(A+38)+2=kHh

(1 —22) + 2= B
(2) HEST ARTLWA > FHFBLERTE 15 5%
» MEHET ? 0P K) £

V. ' -



1

M (855 +157)+2 = 100+ 2=50 ‘
(857°—15"") - 2=70 "+ 2=35"" MRG0T 28355
L (3) BEAWA2L ATEAR 95 3t Hkk—A—
& BZ265%5 ABLGEATHAET?

- BB s 057 (4%95) =0.95 Fown Wb B—H T2
(0.95 °40,257°)+2=0,607" rrers F— A—H
ZIH
By : 0.95’—“—0.607—":0.35%--f--=~-ﬁ—J\—E:ZI?
* ERH  KIMSH
i 957 (4%25) =0.957"
(0.95°—0.257) +2=0.35
0.357+0.25 7 =0.60”
. “EHef 23 55
(4) WA 1200 3 » MZ S ATRITZ » FEIRFEE M LS
 ZomAT s 12 AR, BRKFTAT, WM
S WEZZETR R MRLZEE  IEEET ?
: % : (2007 512 = 100™ e B Z, 55055 10 2 1 2 01
:— L : 12005':—:—60 .;203':,....... 53] aﬁi}ﬁﬁ«"&%
} - - (100%420%) 2 = 607 e FUEE MR 23
. 1()()'5’:_(;()_&:(,;0at ................... AR






R R R R 2 1
i BB+ 1=56---RASHIB B0k
(?:‘c‘fﬁ) DL B — R RS
ZFEHE-+ RIS 1= B
(8) SEMZAZHN 4 RE—W A% RE—E, &
BUARRER 00 [ M REsZRET?  (LIA)
 RIEE—BAR)—B6Ro
Rjfg 12 ‘Ia‘ﬁ—m ’ Eu;t L.0.M. '
9(&1%}%&4{%[%{6 > R B T R R
&1, AHVEHS 50 [
& 197 x (50—1) =588~
_ Berh i R 2 8 588 R
- (9 @49ﬁ B2 8 » KT 20 o ;kylﬁﬁ,&:
$ﬁﬂﬁt4§$ﬁ°~%$ﬁ521u ?
Wi BESTFHRZAE (25420416)=61
RS TFLERLESR (25+20+16)—49=12
IAEB—tE » RIS TLID 2k » 13 —1=2
- m%mmzf#m (23+20+16—49)+ (3 -1)
B 12+2=6 _ 2 6 4R
GER) el R 22

.



o i |y = s L e L e e e Sl

N
&

m m : ’

(10) LHE B0 3 » THE LR Mﬁt#ﬁ-’f'@z-‘
& » R TH% ? (REA)
P KT BANER 80—4=26
DUERAOR URTIR 138 0 ) 26 32 28 BoEien

W AMBRBTZME WX FFMEERTHE

Z(2—1)15

S 265 (2—1) =26 P

26X 2 =52 @ggggk

B R R T4r 2 AR HAE 26 —4" = 224208

, 8 02445
(11) HRFZN » B4 24 35 0 6 4518 » RERT
2 340 KRBT L TAU BRI 2 (LK)
% . 32-]1’ RS 24 58 0 SRR 24 B
””ﬁﬁ?Féﬁ%’M?ﬂﬁﬁﬁ

[24 +(3—1)]—6 Y R ST
o=

=

B 2T 24+ 60 =30 gz 20 8, T 6

(12) 247 LTV =5 » x%ﬁh‘riﬁﬁﬂi&}’ TR
ﬂﬁ:,’a} S UZEE A —R  XE—R T S ES
=0 S ﬂﬂ_%*s«zﬁ%%ﬂ“’ (dek)



r Rt

TR O

Tk e Rt I el B - s ey e e i R
3 i T e T e e ML e e 2

3

"A ¥’

T A

B RAB LS B E TS AT R
MHRAERA=4SE, B - rRAES
BF% ) TR =55 AREED

3.6% 100 -360% AR EEZES 5 —3

somA = (3007 —z00T) = (57 —37)=60" +2
= 30075
“Faim = 1007 —30" =70
RN TN

(13) LIFHEEMERZEIEN » ZHESEHATE W
BB R RT i Lm, M AEBETL?  (BX)

E

R 5007 —507" X 2= 406 (M 2 4 15)

4007+ 4= 100 rreremress BB TS
106450 = 150 i----‘---LF}ﬁ%
1007+ 150 ™ = 250 - B3
ZE1009% 21605 P92607E.
(14) HPEBTHEZTNE » bERBLHEZ3E ) RE
BAEZ el ?
fB: bxo=25-- FPRBLEZHE » 5£BTPER
o ZEMe
26—5=20 - BHERPBLZ 5 HEPiLZ R



§ — 3= 2. 5 IE T IBZ 2 6 R 248 i3
20+2=10 - DL 7, :Z Bl | g
L ZEER 10— :
WRER 50 x5 2™ | e
, HRBE 5B
| (18) WY PUNZAT 6 B Je R —Z AR s
ABARZWMLEN  HERATEE 2R THNEE -

) MZBEREETR?  URASES LSS
BN s
B GERSZIERIA.5 =13 =15 ,_ :
AHOE BRI 6" +1.5T =408
WS 14,50 x4=58,
e d i > 58 o

(16) HCTa TR HiAR EE 3600 M, B F ¥4 120 B ,ZA X
B0 H 4B 2= AFIRER 747 P LR 7
e mIR473600 R+ 120=30"
CZ 1473600 T +80=45"
BZoA1 BAF 30T +45 =75
HOTRZEBOS 3600 +75"=48(H) %45H
(EERL) LB K BARBAGRIRE » —IiEs

\ A
. 2 Lo - e LA
I LA eseeR. M LB DL STe. 1 ' .



B s B g
'Ll‘ L J

s
e

_jf T—‘ﬁ’:fuw .

A R A WS
I . Wy s
i

(o) BRI FIEATHONS 5
AREREE =B EZ o
(b) TR EAT R
BRI = m$v$£2§o
(17) A AT RS » AT 2 0 » SO »
84T 2.5 B> QIR ZHF o [IULT M2 BERE 2
B2 AT 2 M2 RUENET 2.5 B2 0
FIRF RN » FZERAIEASL o e
40 2 2 B 45 2 ‘*"*x4+ 5" x2)=13m
f«&fiﬁh&z&%ﬁo gy, 5_:@
Eh;%ﬁtﬂ&%ﬁé’rzn#ﬁ 137 50.57 T=26(pE)
i 26 0
WIS 2 X (26+4)=60"
e
(18) WMZ ARS8 105k » FRMEEY
B » S 3D 30 -G RE g, B 18 G B
BT 5 I o 24T 8 o
WL BRI 1 BRBDE R4 30 4 WZ L%
(1-+1+0.5) K500 + JUEEBERS 3 " x2.5=7.50%
BRZBEMA 7.8+ 6 "=3%) = 3.75 (8



e R 2R A
1% 0.5 15,75 =280
% 6.25 %
(19) AP Z =5 » W HOHE I 1 50 1B » 24618 »
FRIARE » Z R ZHPAAT » EZ/M05P HB R 4% 0 AU
HRGZER D ? (k)
BE: 45" x3=136H - Z ST ARE LI
60" —48" =5H e » Z AR 2
13505 =27(I%)

BB PAGE SR - 5B 27 /IR W HEAE o

(20) WA 21,6 35 219,258 » = AR BRI

B BWH o FEREAWMEE > - AR R o P

TRz EE Y GERY)
S ES

BR: 21,6 —19,27 =24 gewiennn PRZEREZ2E
19.25tx5_—_96 st L;E:Eﬁ‘ﬁiﬁ}fﬁf'{ﬁ
96 E‘t+2.4,5t=40(53») ........................ BB 4T -2 s

21 .GI X A0 = 864 Frorumevsmersmsssssasssonennes B BT 2 B
S WHZERER 864zLine R
4,88
(21) SEIBAR 1848 LRMAF 46 , MGG HRE?

N



14 w i

2. 18 s MBS 4x18=72
SRIMAIE A6 B HHER 72—146=26
Al — 5 S — S e, ST SO SLR AR
(4—2)» Bz immg 26+ (4-2)=18
B3 - iR 2 S 18—13=5
B4R » feoiZ o
(HE)  JLmPER e M B B R R
BB TR 2R > — RN
2 = (R B2 —2 x iz m) +(4—2)
2 W= (4 x Bz — R BZMm) +(4—2)
(22) Ak #&T, abbm L 3 4% » HHMHEG R »
SRALL 688 2 2 > kiR 5 8 » AR 10 il > REkER
e
W EEthREZ 3k
mj DK =G -civsnsnres *%:g?g{fm*%zﬁku
ZER 10 BB 2 Z B 10 x3=30
15 A5 4 A S 6 Bk 6 B
5 6 B 2 30 Bk o kR IS
©(30+5)+(6—5)=35
FUWR 35%x2—10=60



BEBE 60x3=180
535N » Bh180fE » Z=COMH o

(F:) VARG - PZAMRRIE 0 SR RENAE ; |

—RBIEE A= CBRHFRED + (AR A22)

(23) AN\ 720 T » DM 2 % > HREHE _

- WU 400 5 » 7 3 4E 5D > PUB A RRSEIRA ?
ORI A AT AP RA RS 2R
79207° % 5= 36007 '
£ 5 W o BB \N=4R A S RIREZ 2208
4007 x3=1200""
A AR Z R OV R A
SURIGE AW 22 e s 5+3=8
o BEZIKAS 36007+ 1207=4800"
FEZIAR 4800 +8=600" 46007
(24) RBMEETHE » HM0EE40L s AR TEHER
JZ=hE o fEER 53 0 BB CAEULH T ZHES 500
3 » B B2 B ?
% : REAR—WEETF=EREZER
(40" —5% % 3y =25
B GRRURZ B 2T 5500

N




w;.-:":tﬁ;—w Rk e T STl R e R
S TR - 1 4 : =
S - &

16 &7 9

BORBLBE 500425=20 %208
(25) MW A, WK S 47, % A a7 3 431350
Froo FH— AFpZ ) Btk ELE ZAT R BN » SR
1,555 » #5 = ASBURFZ » B MK BIBLET E TR -
I mIESE 0.755% » ZHIME L 0.6)T » Blg NGEWET
HRATES A ImELR ?
BE: 1.55°—(0.75°+0.67)=0.2" N2
R MR ES T ERERZER
Hif 1,557 +0.27°=1,75"45 850 J7 M sk
Jt %
B— 2 EWE 1.75°+350 0,005
RS R B 0.27+0.005" - 10UT)
ENATE R0 Z MY 407
(25) SAABRRBSIE M 2250 » 2RI & » FABTOOTE
» Z4% 567 30 » AT 415 75 » P B T4 ) LSEFN
A BIFERE 2R ?
B WLERZES 76 —674 =1
B TER  T00 " —56T " =1335%
KA L R 2SR 1,387 +14=9.5%
PR

Bl i



